2 TEHE=FYVUJHRE
( f % B R )
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EME=FV TREGRGES)  ERIEAEESR Y a1 RER S D (H{Z - mg/L)

T X ETA 44 tEH INATR
XA R —R 202 203

H1 X 4 A ET T XHih

H[X = 0230 0040

HFEE 000100 002000

FHF VR EE (m) 6.0 30.0

BRI ZHF FHPE

FHIEX 5y ZDfth TEAK
BAKFHH H30.8.28 | H30.12.3 H30.7.2 | H30.11. 27

JKIR(°C) 19.0 15.0 24.1 23.0

AR HE (mS/m) 13.6 14. 8 19.8 19.5

pH 5.8 5.9 | 4FREHE 7.1 1.3 |
an AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
raaxTFL < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmampxk < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThZanxTFlL < 0.0005 [< 0.0005 < 0.0005 0. 0005 0. 0005 0. 0005
X ETA 44 INATR INATR
XA R —R 203 203

H1 X 4 FHEHET FHEHET

H[X = 0350 0350

HFEE 001300 001400

H P (m) 40.0 54.0

B FHFE FHPE

FIEX 5y TEAK TEAK
BAKFHH H30.7.3 | H30.11. 27 H30.7.3 | H30.11. 27

JKIR(°C) 18.2 17.2 19.5 16.5

AR (mS/m) 16.6 14.4 15.4 15.2

pH 6.0 6.2 |FRESE 5.8 5.9  |FREHE
Tan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
LR igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
raaxFL < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZouxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k 0. 0005 0. 0005 0.0005 |< 0.0005 0. 0009 0. 0007
1,1,2-N)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L 0. 001 0. 001 0. 001 < 0.001 0. 001 0. 001
Th7anxTFlL < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
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EME=FV TREGRGES) GRIEAEESRE Y a1 R E R 552) (H{Z - mg/L)

17 XHET A 4 IMRTH INMRTH

i X E A= —R 203 203

XA S IIH] AFLET

X 0490 0670

AR el 000900 000100

FEF TR (m) 40.0 45.0

A A~BH I~BH

&Ky Z Dt ITXRK

KEA R H30. 7.3 | H30. 11. 27 H30.7.2 | H30.12.6

ZKiR(°C) 18.0 13.5 20.5 17.1

U (mS/m) 17.6 18.4 12.6 68. 1

pH 6.1 6.2 | HEHEHE 7.6 1.6 | EE[EEE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHGEAR R 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
4=1=3a:0  P < 0.0002 |< 0.0002 [< 0.0002 0. 0002 0. 0002 0. 0002
1,2-Y/manxi < 0.0004 |<0.0004 [<0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 < 0. 004 < 0.004 0.011 0.014 0.013
L,1,1-’)rmaxz 0.0005 (< 0.0005 0.0005 [< 0.0005 [< 0.0005 [< 0.0005
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iutent P < 0.001 < 0.001 < 0.001 < 0.001 0. 001 0. 001
VANVZA= =5 N < 0.0005 |< 0.0005 |< 0.0005 0.0020 0.0020 0.0020
i XETA 4 ST ST

i XA A= —R 204 204

XA ki) ki

X 0010 0010

ARl 000100 000130

FEF R (m) 6.0 3.0

& I AP AP

&Ky ATERK ATERK

BKEA R H30.7.19 | H30.12.5 H30.7.19 | H30.12.5

ZKiR(°C) 13.5 15.2 14.0 14.5

B SR (mS/m) 18.7 23.8 33.9 32.2

pH 6.5 6.7 | FEHHE 6.8 6.9 | FMHEHE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR R 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
V4=1=3a:0  P <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |<0.0004 [<0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-YZanxzF L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 < 0.004 < 0.004 < 0. 004 < 0. 004 < 0. 004
L,1,1-’)rmuxz < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iutent P < 0.001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
VANVZA= =5 i 0.010 0.0075 0.0088 0.0010 0.0011 0.0011
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EME=FV TREGRGES)  ERIEAEESR Y a1 RSN 53) (H{Z - mg/L)

i XET A4 WWE™ mEM

i X E A= —R 204 206

XA ki) ILIARGR SR

X 0010 0490

AR el 000140 000100

FEF TR (m) 5.0 20.0

& R EHF il

&Ky ATERK ATERK

KEA R H30.7.19 | H30.12.5 H30.8.21 | H30.12.3

ZKiR(°C) 19.0 15.5 19.5 16.8

U (mS/m) 28.5 29.3 19.5 21.1

pH 6.8 7.0 R E 5.9 6.0 | FMHFEE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHGEAR R 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
4=1=3a:0  P < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |<0.0004 [<0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 < 0. 004 < 0.004 < 0.004 < 0. 004 < 0.004
L,1,1-’)rmaxz < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iutent P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANVZA= =5 N 0.0016 0. 0021 0.0019 0.0014 0.0011 0.0013
T KT R 44 FIVETH P

i XA A= —R 207 207

XA HITEET RAHT

X 0030 0070

ARl 000500 000400

FEF R (m) 10.0 40.0

& R EHF il

&Ky Z Dt Z Dt

BKEA R H30.8.30 | H30.12.7 H30. 8. 30 -

ZKiR(°C) 21.0 13.0 18.0 -

B SR (mS/m) 47.8 45.7 35.7 -

pH 6.6 6.6 | AEHHME 8.2 - I
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 - < 0.002
PUHEAR R 57 < 0.0002 |< 0.0002 |< 0.0002 |< 0.0002 - < 0.0002
V4=1=3a:0  P 0.015 0.0018 0.0084 [< 0.0002 - < 0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 |< 0.0004 |< 0.0004 - < 0.0004
L,1-YZanxzF L < 0.002 < 0.002 < 0.002 0.002 - 0.002
1,2-Y/anxzF L < 0.004 < 0.004 < 0.004 < 0. 004 - < 0.004
L,1,1-’)rmuxz < 0.0005 |<0.0005 (< 0.0005 |< 0.0005 - < 0.0005
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 - < 0.0006
NP7 =iutent P < 0.001 < 0.001 < 0.001 < 0.001 - < 0.001
VANVZA= =5 i < 0.0005 |<0.0005 (< 0.0005 |< 0.0005 - < 0.0005
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EHE=2Y 7 TRE Gk

B

(G FEMEA PR EY)  a)| FR52hE 7 4)

(B mg/L)

T X ETA 44 =[G Bl

XA R —R 210 210

X4 = 7K i T = 7K i T

H[X = 0030 0030

HFEES 000400 000500

H P (m) 100.0 BH

BRI FHFE FHFE

FHIEX 5y —f%Er A TEAK
BAKFHH H30.8.21 | H30.12. 11 H30.8.21 | H30.12. 11

JKIR(°C) 17.5 14.2 18.0 15.2

AR (mS/m) 24.5 23.8 23.17 23.6

pH 6.7 1.2 | FREEE 6.4 6.7 |FREEE
Tan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
raaxFL < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 (< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmmpx=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThZanxTFlL 0.0005 |< 0.0005 0. 0005 0.0024 0.0020 0.0022
T X ETA 44 =[G Bl

XA R —R 210 210

X4 = &RHET $rHHET

H[X = 0040 0100

HFEE 000300 000200

H PG (m) 100.0 130.0

BRI FHFE N:L

FIEX 5y TEAK TEAK
BAKFHH H30.8.27 | H30.12.12 H30.8.21 | H30.12. 11

JKIR(°C) 22.0 15.1 26.0 12.9

AR HE (mS/m) 26.3 27.1 25.6 25.1

pH 6.9 7.1 AF [ E 7.1 1.4 | FEREHE
Tran AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
raaxFL < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 < 0.0004 [<0.0004
1,1-Y/ouxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 0. 0005 0.0005 |< 0.0005 [< 0.0005 (< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
[NEA=i=t= 5 2% < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Th7anxTFlL 0. 0006 0. 0006 0. 0006 0. 0005 0. 0005 0. 0005
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EME=FV TREGRGES)  GRIEARESR AW a1 RS 575) (H{Z - mg/L)

i XET A4 B =T

i X E A= —R 210 210

HuX 4, = JKHET = JKET

X 0120 0120

AR el 000600 000700

FEF TR (m) 100.0 80.0

& R il I~BH

&Ky ATERK ATERK

KEA R H30.8.23 | H30.12.13 H30.8.27 | H30.12.12

ZKiR(°C) 18.5 14.5 23.5 12.5

U (mS/m) 24.2 23.6 21.4 23.5

pH 7.0 6.7 | FEHHE 6.2 6.4 | FHEEE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHGEAR R 57 <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
4=1=3a:0  P <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 [<0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)rmaxz 0.0018 0.0019 0.0019 0. 0024 0.0020 0.0022
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iutent P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANVZA= =5 N 0.0011 0.0010 0.0011 0.0007 < 0.0005 0. 0006
i XET A4 B =T

i XA A= —R 210 210

X4 = K #TET (R

X 0130 0380

ARl 000500 000100

FEF R (m) A~BH 80.0

& R il il

&Ky — iR JKEIKIR

BKEA R H30.8.23 | H30.12.12 H30. 8. 21 | H30. 12. 11

ZKiR(°C) 20.5 13.5 16.5 15.3

B SR (mS/m) 23.2 22.5 247 24.3

pH 6.9 6.4 | EHHE 6.4 6.8 | FMHEHE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR R 57 < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
V4=1=3a:0  P < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |<0.0004 [<0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-YZanxzF L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0. 004 < 0. 004 < 0.004 < 0.004 < 0.004 < 0. 004
L,1,1-’)rmuxz < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iutent P 0.003 0.002 0.003 < 0.001 < 0.001 < 0.001
VANVZA= =5 i < 0.0005 |< 0.0005 |< 0.0005 0. 0006 0. 0005 0. 0006
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EHE=2Y 7 TRE Gk

B

(RN PR EY) a1 B 5206 576)

(B mg/L)

i XA 4 Bl Bl

i KA ff = — R 210 210

M1 X 4, T FART T FART

i X7 0380 0380

e 000500 000600

JE R () 70.0 e

T e TR

FH3R X4 £ EAK Zoit

BOKAEH A H30.8. 23 | H30. 12. 13 H30.8.21 | H30. 12. 11

KIR(C) 23.0 14.6 26.0 5.2

B UREF (mS/m) 23.7 23.4 22.3 22.6

pH 6.9 6.6 [wRrwm 6.4 6.6 | R
SYEEEV <0.002 <0002 |<0.002 |<0.002 [<0.002 |<O0.002
P 3R <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |<0.0002 |< 0.0002
e E ARy <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |<0.0002 |< 0.0002
A ey <0.0004 |< 0.0004 |< 0.0004 |< 0.0004 |<0.0004 |< 0.0004
e, <0.002 <0002 |<0.002 |<0.002 [<0.002 |<O0.002
RS EEEAny <0.004 |<0.004 |<0.004 |<0.004 |<0.004 |<O0.004
LL1-FanTr <0.0005 |< 0.0005 |<0.0005 |<0.0005 |<0.0005 |< 0.0005
L1,2-FanTr <0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
NEEEES AR <0.001 <0001 ]<0.001 |<0.001 [<0.001 |<O0.001
FrosmnTFL 0.0016 |< 0.0005 | 0.0011 | 0.0016 | 0.0013 | 0.0015
i XA 4 B B
ey 210 210

M1 X 4, T FART T FART

i X7 0380 0380

e 000700 000800

JE T () 70.0 49.0

T e TR

FH3R X4 HEAK —IRER A

BOKAEH A H30.8.27 | H30. 12. 11 H30.8.23 | H30. 12. 11

KIR(C) 23.0 12.7 23.3 13.2

BRI (mS/m) 20.7 23.3 23.0 23.9

pH 6.5 6.7 [wRmrmm 71 6.7 | 4RI
SYEEEV <0.002 <0002 |<0.002 |<0.002 [<0.002 |<O0.002
PS5 <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |<0.0002 |< 0.0002
PETET ARy <0.0002 < 0.0002 |< 0.0002 |< 0.0002 |<0.0002 |< 0.0002
ST ey <0.0004 |< 0.0004 |< 0.0004 |< 0.0004 |<0.0004 |< 0.0004
eI, <0.002 <0002 |<0.002 |<0.002 [<0.002 |<O0.002
RS Any <0.004 |<0.004 |<0.004 |<0.004 |<0.004 |<O0.004
LR anTr <0.0005 |< 0.0005 |<0.0005 |< 0.0005 |<0.0005 |< 0.0005
L1,2-F/anTrs <0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006 |< 0.0006
NEEEES AR <0.001 <0001 ]<0.001 |<0.001 [<0.001 |<O0.001
Fro/mnTFL 0.0014 | 0.0013 | 0.0014 | 0.0010 | 0.0010 | 0.0010

- 196 -



EME=FV TREGRGER)  GRIEARESR Y AR ER ST (H{Z - mg/L)

i KT F 4, Bl Bl

i KR = — 210 210

HiIX 4, T FART T ART

H X 7 0380 0380

HEES 000900 001000

e R (m) B 120. 7

eI B B

R 5y Z 0t — 1K A

B A H30. 8. 27 | H30. 12. 11 H30.8.27 | H30. 12. 11

KIRCC) 31.5 9.1 16.0 14.3

B USEF (mS/m) 20.8 23.0 22.8 24.2

pH 6.4 6.6 |EREHE] 6.7 6.8 4RIV
SoanAny <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
PR R <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
PEEEEARy <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
RISy <0.0004 < 0.0004 |< 0.0004 |< 0.0004 < 0.0004 |< 0.0004
RESZEEES <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
WEST ey <0.004 <0004 |<0.004 |<0.004 <0004 |<O0. 004
L1,1-Nzaaxsy <0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |<0.0005 |< 0.0005
L1,2-Naaxsy <0.0006 < 0.0006 |< 0.0006 |< 0.0006 < 0.0006 |< 0.0006
NEEEE A% <0.001 <0001 |<0.001 |<0.001 <0001 |<O0.00i
Fro/anTFL 0.0010 | 0.0009 | 0.0010 | 0.0007 | 0.0009 | 0.0008
i KRR 4, Bl Bl

i KR = — 210 210

HiIX 4, T HART T HART

H X 7 0380 0380

HPES 001100 001200

e R (m) 138. 0 80.0

eI B B

R 5y — 1K F & FK

B A H30.8.27 | H30. 12. 11 H30.8.27 | H30. 12. 12

KIRCC) 5.7 145 17.7 15.4

B USEF (mS/m) 26.0 25. 6 20.3 22.0

pH 6.8 6.9 [EREYm 6.8 6.8 |4ERITHNE
SoanAny <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
PR R <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
PEEEEARy <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
RISy <0.0004 < 0.0004 |< 0.0004 |< 0.0004 |< 0.0004 |< 0.0004
RESZEEES <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
BEST ey <0.004 <0004 |<0.004 |<0.004 <0004 |<O0. 004
L11-N7aaxsy <0.0005 | 0.0005 | 0.0005 |<0.0005 [<0.0005 |< 0.0005
L1,2-N7aaxsy <0.0006 |< 0.0006 |< 0.0006 |< 0.0006 < 0.0006 |< 0.0006
NEEEE A% <0.001 <0001 |<0.001 |<0.001 <0001 |<O0.00i
FLo/anTF L 0.0007 | 0.0008 | 0.0008 | 0.0007 |<0.0005 | 0.0006
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EME=FV TREGRGER)  GRIEAREER Y a1 RN 558) (H{Z - mg/L)

T X ETA 44 =[G Bl

XA R —R 210 210

X4 (UEVN:) fEFLET

H[X = 0380 0440

HFEES 001300 000100

H P (m) 80.0 60.0

BRI N:L FHFE

FHIEX 5y 4 ERAK TEAK
BAKFHH H30.8.27 | H30.12.12 H30.8.21 | H30.12. 11

JKIR(°C) 15.8 14.7 16.0 15.0

AR (mS/m) 19.4 22.4 25.6 24.1

pH 6.6 6.7 |FRCEEE 6.2 1.0 | FFEREEE
Tan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
raaxFL < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmmpx=k < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThZanxTFlL 0. 0006 0.0008 0. 0007 0.0011 0. 0007 0. 0009
T X ETA 44 =[G =[G

XA R —R 210 210

H1 X 4 BE R

H[X = 0480 0480

HFEE 000100 000500

H PG (m) 100.0 100.0

BRI FHFE FHFE

FIEX 5y TEAK TEAK
BAKFHH H30.8.23 | H30.12.12 H30.8.27 | H30.12.12

JKIR(°C) 19.0 14.5 19.0 15.3

AR HE (mS/m) 24.7 22.9 24.1 24.2

pH 7.0 6.8 |FEMEEE 6.5 6.8 |FRFEHME
Tran AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
R igrES < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
raaxFL < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-Y/ouxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k 0.0007 |< 0.0005 0. 0006 0.0013 0. 0007 0.0010
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
[NEA=i=t= 5 2% < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Th7anxTFlL 0.0010 0.0008 0. 0009 0.0008 0. 0006 0. 0007

- 198 -



EME=FV TREGRGER)  GRIEARER Y a1 R EHR59) (H{Z - mg/L)

i KT F 4, Bl Bl

i KR = — 210 210

HilX 4, 5 RRET 5 RRET

H X 7 0540 0540

HEES 000200 000400

e R (m) 80.0 60.0

eI B B

R 5y — 1K KEKE

B A H30.8.23 | H30. 12 13 H30.8.23 | H30.12. 13

KIRCC) 6.7 14.2 26.0 1.3

B USEF (mS/m) 18.6 6.9 19.1 18.4

pH 7.4 8.0 [fFEREm] 7.2 6.9 4RIV
SoanAny <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
PR R <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
PEEEEARy <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
RISy <0.0004 < 0.0004 |< 0.0004 |< 0.0004 < 0.0004 |< 0.0004
RESZEEES <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
WEST ey <0.004 <0004 |<0.004 |<0.004 <0004 |<O0. 004
L1,1-Nzaaxsy <0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |<0.0005 |< 0.0005
L1,2-Naaxsy <0.0006 < 0.0006 |< 0.0006 |< 0.0006 < 0.0006 |< 0.0006
NEEEE A% <0.001 <0001 |<0.001 |<0.001 <0001 |<O0.00i
Fro/anTFL <0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |<0.0005 |< 0.0005
i KRR 4, B % 2 i

i KR = — 210 212

HilX 4, J\E ST HE

H X 7 0650 0010

HPES 000100 000400

e R (m) B 100

W VAR B RIEE

R 5y — 1K — 1K A

B A H30.11.9 | H30.12. 12 H30.8.6 | H30.12.7

KIRCC) 17.5 6.2 18.5 16.5

B USEF (mS/m) 21.4 22.2 6.9 6.7

pH 6.3 6.4 [EREYE] 6.2 6.2 4RIV
SoanAny <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
PR R <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
PEEEEARy <0.0002 < 0.0002 |< 0.0002 |< 0.0002 < 0.0002 |< 0.0002
RISy <0.0004 < 0.0004 |<0.0004 |< 0.0004 |< 0.0004 |< 0.0004
RESZEEES <0.002 <0002 |<0.002 |<0.002 <0002 |<O0.002
BEST ey <0.004 <0004 |<0.004 |<0.004 <0004 |<O0. 004
L11-N7aaxsy <0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005 |< 0.0005
L1,2-N7aaxsy <0.0006 < 0.0006 |< 0.0006 |< 0.0006 < 0.0006 |< 0.0006
NEEEE A% 0. 001 0. 001 0.001 |<0.001 < 0.001 < 0.001
FLo/anTF L <0.0005 |< 0.0005 |<0.0005 | 0.0008 | 0.0008 | 0.0008
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EHE=2Y 7 TRE Gk

B

(R FEMEA PR EY  a)1 R52HE 57 10)

(B mg/L)

i XET A4 Hamm Frmh

i X E A= —R 212 212

HuX 4, T =T fEFEIR

X 0020 0040

AR el 000100 000100

FEF TR (m) 50.0 30.0

& R il il

&Ky ATERK — iR

KEA R H30.8.6 | H30.12.7 H30.8.6 | H30.12.7

ZKiR(°C) 34.2 12.6 21.4 15.5

U (mS/m) 20. 1 19.2 19.7 17.1

pH 6.5 6.5 | AEHHE 6.5 6.5 | FMHEE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHGEAR R 57 < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
4=1=3a:0  P <0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |<0.0004 [<0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 < 0.004 < 0.004 < 0. 004 < 0. 004 < 0. 004
L,1,1-’)rmaxz < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iutent P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VANVZA= =5 N 0.0011 0.0020 0.0016 0.0010 0.0013 0.0012
i XET A4 S HRHET ST

i XA A= —R 361 384

XA XH = K BEAT

X 0010 1030

ARl 001000 000600

FEF R (m) 130.0 1.0

& R il EAP

&Ky TXRAK —RER A

BKEA R H30.8.7 | H30.12.6 H30.8.20 | H30.12.3

ZKiR(°C) 21.4 14.8 16.0 15.0

B SR (mS/m) 42.8 39.7 26. 3 29.1

pH 7.6 1.7 FRE 7.3 1.2 | EEEEE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR R 57 < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
V4=1=3a:0  P 0.0015 0.0018 0.0017 < 0.0002 [< 0.0002 [< 0.0002
1,2-Y/manxi < 0.0004 |< 0.0004 [<0.0004 |<0.0004 < 0.0004 [<0.0004
L,1-YZanxzF L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L 0. 060 0. 058 0.059 < 0. 004 < 0.004 < 0. 004
L,1,1-’)rmuxz < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
1,1,2-’N)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iutent P 0.032 0.028 0.030 < 0.001 < 0.001 < 0.001
VANVZA= =5 i 0. 0005 0. 0006 0.0006 [< 0.0005 [< 0.0005 [< 0.0005
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EME=FV TREGES)  GRIEARESR Y AR EHR S 11) (HZ :mg/L)

i XET A4 SEHAT EESGIKHET

i XA A= —R 384 386

XA = K BT NR

X 1030 0140

ARl 001000 000200

FEF TR (m) 13.0 HA

& R AP I~BH

&Ky Z Dt — iR

BKEA R H30.8.20 | H30.12.3 H30.8.29 | H30.12.7

ZKiR(°C) 18.8 15.5 16.0 15.0

7 SURIE R (mS/m) 36. 4 42.1 25.6 31.0

pH 6.7 6.8 | AEHVHME 6.5 6.7 | FMFEE
AE1=5 .5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR R 57 < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
4=1=3a:0  P 0. 0004 0.016 0.0082 [< 0.0002 [< 0.0002 [< 0.0002
1,2-Y/manxi < 0.0004 |<0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-Y/anxzFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 0.007 0. 006 < 0.004 < 0.004 < 0.004
L,1,1-’)rmaxz < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
1,1,2-’)7maxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
NP7 =iuteat P < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
VALNVZA= =5 N < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
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EME=FV TREG>GESN)  GEBREAREREEY R FE S5 1) (BTt mg/L)
T X ETA 44 €iRM £iR™
XA R —R 201 201
H1 X 44 AJBwvy AJBowvy
H[X = 0010 0010
HAEE 000100 000800
H P (m) 50.0 100.0
R EHPE RHF
FIEX 5y — k& A TEAK
BAKFHH H30.6.28 | H31.1.24 H30.6.27 | H31.1.24
JKIR(°C) 19.8 16.4 16.0 14.0
AR (mS/m) 25 25 24 25
pH 7.0 1.0 | FREEE 6.7 6.8 |FEMEHE
A== Y 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU b ik R < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 < 0.0004 [<0.0004
1,1-Y/onxFL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmampx=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThIr/moxFL 0.0010 0.0012 0.0011 0. 0055 0. 0060 0.0058
X ETA 44 €iRM £iR™
XA R —R 201 201
X A AJowsy AJowsy
H[X = 0010 0010
HAES 000900 001000
H A (m) 81.0 80.0
R EHPE xHF
FIEX 5y 4 ERK — k&R A
BAKFHH H30.6.27 | H31.1.24 H30.6.28 | H31.1.24
JKIR(°C) 20.0 12.7 20.0 12.0
AR HE (mS/m) 26 25 28 28
pH 6.8 6.8 |FEMESE 6.9 6.9 |FRESE
A= i=S Y 04 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
Wi e < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 < 0.0004 [<0.0004
1,1-YZouxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvaoxF1L < 0.001 < 0.001 < 0.001 0. 001 0. 001 0. 001
VAl \ZA=1=t=0 2 V% 0.0043 0. 0041 0.0042 0.0027 0.0031 0.0029
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EME=FV U TREG>GEESN)  GEBEEAREREEY R FE N 52) (BTt mg/L)
T X ETA 44 €iRM £iR™
XA R —R 201 201
H1 X 44 AJBwvy AJBowvy
H[X = 0010 0010
HAES 001100 002000
H P (m) 80.0 150
R EHPE RHF
FHIEX 5y — k&R A 4 ERK
BAKFHH H30.6.28 | H31.1.24 H30.6.26 | H31.1.24
JKIR(°C) 19.8 11.5 16.0 1.1
AR (mS/m) 27 21 24 25
pH 6.9 6.9 |FRESE 7.0 6.9 |FRESE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 0. 001 0. 001
Thor/moxFL 0. 0046 0.0044 0.0045 0.0033 0.0036 0.0035
T X ETA 44 €iRM £iR™
XA R —R 201 201
X A BJowv4s BJowv4s
H[X = 0020 0020
HAES 000400 001000
FHFREE(m) T~BH 158.0
R T~BH EHPE
FIEX 5y A ERAK — ke A
BAKFHH H30.6.27 | H31.1.23 H30.6.27 | H31.1.23
JKIR(°C) 19.4 14.1 19.0 15.0
AR (mS/m) 23 22 19 21
pH 6.8 6.8 |FMEHE 6.6 6.6 |FMHESfE
A= i=E Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU bR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThIrouxFL 0.0087 0.0080 0.0084 0.0084 0.0080 0.0082
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EME=FV TRE@GESR)  GEBEEAREREEY R FEH53) (BTt mg/L)
T X ETA 44 €iRM £iR™
XA R —R 201 201
H1 X 44 Bowsy Bowv¥y
H[X = 0020 0020
HAES 002200 002400
H P (m) 80.0 120.0
R EHPE RHF
FHIEX 5y AERAK 4ERK
BAKFHH H30.6.26 | H31.1.22 H30.6.27 | H31.1.23
JKIR(°C) 18.6 15.0 23.0 13.0
AR (mS/m) 24 26 17 18
pH 7.2 1.2 | HFREEE 7.0 1.0 |FREEE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 < 0.0004 [<0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Thor/moxFL 0.0038 0.0044 0.0041 0.0011 0.0014 0.0013
T X ETA 44 €iRM £iR™
XA R —R 201 201
X A BJowv4s BJowv4s
H[X = 0020 0020
HAES 003000 003200
H PG (m) 50.0 150.0
R EHPE RHF
FIEX 5y 4 ERAK A ERAK
BAKFHH H30.6.28 | H31.1.24 H30.6.27 | H31.1.23
JKIR(°C) 19.6 15.5 14.4 13.4
AR (mS/m) 17 17 24 24
pH 7.0 1.0 | FREEE 6.9 6.9 |FRESE
A= i=E Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU bR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThIrouxFL 0. 0006 0. 0006 0. 0006 0.035 0.076 0. 056
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EME=FV U TREG>GESR)  GEBEEARIEREEY R FE 534 (BTt mg/L)
T X ETA 44 €iRM £iR™
XA R —R 201 201
X 4 BJowv4s BJowv4s
H[X = 0020 0020
HAES 003700 003900
H P (m) 80.0 10
R EHPF RHF
FHIEX 5y AERAK — iz & A
BAKFHH H30.6.27 | H31.1.24 H30.6.26 | H31.1.22
JKIR(°C) 17.0 13.9 16.1 14. 3
AR (mS/m) 23 25 17 17
pH 6.8 6.8 |FMEHE 7.0 6.9 |FRESE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Thor/moxFL 0. 0051 0.0043 0.0047 0.0008 0.0008 0.0008
T X ETA 44 €iRM £iR™
XA R —R 201 201
X A BJowv4s BJowv4s
H[X = 0020 0020
HAES 004500 004600
FHFREE(m) 49 101.0
R T~BH EHPE
FIEX 5y A ERAK 4 ERK
BAKFHH H30.6.28 | H31.1.24 H30.6.26 | H31.1.22
JKIR(°C) 16.7 14.5 16.0 12.0
AR (mS/m) 20 22 24 25
pH 6.5 6.5 |FHESE 7.4 1.4 | FREEE
A= i=E Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU bR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThIrouxFL 0.010 0.010 0.010 0.0032 0.0033 0.0033
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EME=FV U TRE@GESR)  GEBEEAREREEY R FE N 535) (BTt mg/L)
T X ETA 44 €iRM £iR™
XA R —R 201 201
X 4 BJowv4s BJowv4s
H[X = 0020 0020
HAES 005000 005100
FHFREE(m) 85 90.0
R B/ EHPE
FHIEX 5y AERAK 4 ERAK
BAKFHH H30.6.27 | H31.1.24 H30.6.28 | H31.1.24
JKIR(°C) 21.0 10.5 18.0 10.0
AR (mS/m) 26 26 20 21
pH 7.0 1.0 | FREEE 6.7 7.1 AF [ E
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 < 0.0004 [<0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Thor/moxFL 0. 0057 0. 0056 0. 0057 0.0047 0.0022 0.0035
T X ETA 44 €iRM £iR™
XA R —R 201 201
X A BJowv4s BJowv4s
H[X = 0020 0020
HAES 006200 007200
FHFREE(m) N 80
R N EHPE
FIEX 5y — k&R A 4ERAK
BAKFHH H30.6.27 | H31.1.24 H30.6.26 | H31.1.22
JKIR(°C) 19.0 16.0 19.8 16.0
AR (mS/m) 24 24 21 28
pH 6.7 6.7 |FREEE 7.3 7.1 A2 E
A= i=E Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU bR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThIrouxFL 0.0029 0.0035 0.0032 0.0034 0.0044 0.0039
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EME=FV U TREGGESR)  GEBEEARIEREEY R FE N 576) (BTt mg/L)
T X ETA 44 €iRM £iR™
XA R —R 201 201
X 4 BJowv4s BJowv4s
H[X = 0020 0020
HAES 007500 007600
FHFREE(m) 60 150
R EHP RHF
FHIEX 5y 4 ERAK 4 ERAK
BAKFHH H30.6.26 | H31.1.22 H30.6.27 | H31.1.23
JKIR(°C) 17.0 14.4 16.8 12.0
AR (mS/m) 38 38 22 18
pH 7.0 1.0 | FREEE 7.3 1.0 |FREEfE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L 0.002 0.002 0.002 < 0.001 < 0.001 < 0.001
Thor/moxFL 0.0018 0.0017 0.0018 0.025 0.018 0.022
T X ETA 44 €iRM £iR™
XA R —R 201 201
X A BJowv4s cJovsy
H[X = 0020 0030
HAES 007700 000100
FHFREE(m) 100 80.0
R EHPE RHF
FIEX 5y A ERAK 4 ERAK
BAKFHH H30.6.27 | H31.1.24 H30.6.26 | H31.1.22
JKIR(°C) 17.5 1.1 22.3 10.0
AR (mS/m) 16 16 21 22
pH 7.4 7.1 AF [ E 6.3 6.5 |FHESE
A= i=E Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU bR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [<0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
ThIrouxFL 0. 0005 0.0008 0. 0007 0.0030 0.0035 0.0033
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EME=FV TRE@GESN)  GEBEEAREREEY R FER ST (BTt mg/L)
T X ETA 44 €iRM £iR™
XA R —R 201 201
X 4 cJovsy cJovsy
H[X = 0030 0030
HAES 000500 000800
H P (m) 75.0 60.0
R EHPF RHF
FHIEX 5y AERAK — iz & A
BAKFHH H30.6.26 | H31.1.22 H30.6.26 | H31.1.22
JKIR(°C) 21.3 11.0 17.9 14.5
AR (mS/m) 20 21 26 28
pH 6.3 6.5 |FHESE 6.4 6.6 |FHESE
A== Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
Thor/moxFL 0.0008 0.0010 0. 0009 0.0021 0.0016 0.0019
T X ETA 44 €iRM £iR™
XA R —R 201 201
X A cJovsy cJovsy
H[X = 0030 0030
HAES 002200 002700
FHFREE(m) 79 N:L
R EHPE T~HH
FIEX 5y A ERAK 4 ERAK
BAKFHH H30.6.26 | H31.1.22 H30.6.26 | H31.1.24
JKIR(°C) 19.5 13.0 21.9 9.0
AR (mS/m) 18 18 22 23
pH 6.3 6.4 | FRESE 6.4 6.6 |FMESfE
A= i=E Y 0 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU bR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [<0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 0. 001 0. 001 < 0.001 < 0.001 < 0.001
ThIrouxFL 0.0039 0. 0052 0. 0046 0.0059 0. 0060 0. 0060
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EHT=FV L TREGMGES)  EREAEEEEY ST FEHE58) (A :mg/L)
T X ETA 44 €iRM &R
XA R —R 201 201
H1 X 44 DJowvy DJowvy
H[X = 0040 0040
HFEES 000600 004000
FHFREE(m) 50 100
R N:L FHFE
FHIEX 5y — k&R A 4 ERK
BAKFHH H30.6.26 | H31.1.22 H30.6.26 | H31.1.22
JKIR(°C) 16.5 14.2 19.0 13.0
AR (mS/m) 14 16 19 22
pH 6.7 6.8 |FMEHE 7.1 1.2 | HFREEE
Tan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VUL iR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-Y/onxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/ouxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmaax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L < 0.001 < 0.001 < 0.001 0.002 < 0.001 0.002
Thor/moxFL 0.0012 0.0015 0.0014 < 0.0005 [< 0.0005 (< 0.0005
T X ETA 44 €iRM &R
XA R —R 201 201
X A EJovsy EJovsy
H[X = 0050 0050
HFES 000100 001000
FHFREE(m) 70 100
R FHFE xHF
FIEX 5y TEAK TEAK
BAKFHH H30.6.28 | H31.1.24 H30.6.28 | H31.1.24
JKIR(°C) 16.7 15.2 15.0 14.5
AR (mS/m) 25 25 25 25
pH 6.7 6.9 |FRESE 6.7 6.8 |FMEHfE
Tan AR < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
VU bR 5% < 0.0002 [< 0.0002 (< 0.0002 |<0.0002 (< 0.0002 [< 0.0002
1,2-/unx iy < 0.0004 [< 0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
1,1-YZonxFlL < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/muxFlL < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
1,1,1-N)rmax=k < 0.0005 [< 0.0005 (< 0.0005 |<0.0005 [<0.0005 [< 0.0005
1,1,2-RN)rmaxk < 0.0006 [< 0.0006 (< 0.0006 |< 0.0006 [< 0.0006 [< 0.0006
N ZvoxF1L 0.002 0.002 0.002 0.002 0.002 0.002
ThIrouxFL < 0.0005 (< 0.0005 (< 0.0005 |<0.0005 [< 0.0005 [< 0.0005
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EME=FV TREGRGES)  ERIEAEESR Y &R T E R 59) (HZ :mg/L)

i XET A4 &R &R

i XA A= —R 201 201

X4 EJovy GJ7avy

X 0050 0070

ARl 001400 001900

FEF TR (m) 80 ~HA

& R il B

&5y Z Dt ATERK

BKEA R H30.6.28 | H31.1.24 H30.6.26 | H31.1.22

ZKiR(°C) 16.2 13.4 26.4 8.5

U (mS/m) 24 24 44 29

pH 6.5 6.6 | AEHEHE 6.7 6.7 | FMHEHE
AE1=5. 5 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
PUHEAR R 57 < 0.0002 |<0.0002 [<0.0002 |<0.0002 (< 0.0002 [<0.0002
1,2-Y/manxi < 0.0004 |<0.0004 (< 0.0004 |<0.0004 (< 0.0004 [<0.0004
L,1-Y/anxzF L < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
1,2-Y/anxzF L < 0.004 < 0. 004 < 0.004 < 0.004 < 0.004 < 0.004
L,1,1-’)rmaxz < 0.0005 |<0.0005 |<0.0005 |< 0.0005 (< 0.0005 < 0.0005
1,1,2-’)rmaxz < 0.0006 |< 0.0006 [< 0.0006 |< 0.0006 (< 0.0006 [< 0.0006
KNZonxzF1L 0.002 0.002 0.002 < 0.001 < 0.001 < 0.001
VALNVZA= =5 N < 0.0005 |<0.0005 < 0.0005 |< 0.0005 0. 0009 0. 0007
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EHT=FV 7 A

B

(B34 a1 55 1)

(B mg/L)

1 X HT R 44 INATH INATH

i XHETff = —R 203 203

Hi X 44 El) A BAHET

X 5 0050 0410

iR 000100 000100

FEF R EE (m) 70.0 40.0

R RHF RHF

FHIEIX 5y TEAK ZDfth

BKAEH R H30.7.2 | H30.12.6 H30.7.2  H30.12.6

KIE(C) 21.4 18.1 19.9 12.7

HXURE R (mS/m) 52.3 57.17 171 266

pH 1.2 1.3 A 6.7 6.9 A
=3 0.029 0.032 0. 031 0. 008 0.007 0.008
T XHT R 44 INATH INATH

i XHET R —R 203 203

Hit X 44 L /NHRET ST

X 5 0600 0700

HEE&s 000100 000400

FEF R EE (m) B 80

R B RHF

FHIEIX 5y ZDfth T Dfth

BRKAEH A H30.7.2 | H30.12.6 H30.7.2  H30.12.10

KIE(C) 23.1 16.8 22.9 17.6

HBXURE R (mS/m) 47.5 53.5 63.0 144

pH 1.2 1.3 A 6.9 6.7 A
=3 0.016 0.018 0.017 < 0.005 < 0.005 < 0.005
1 XHT AT 4 L] L]

i XHET R = —R 204 204

H[X 44 & T FIRITET = T 15

X 5 0230 1190

HEEs 000100 000100

FEF R EE (m) 30.0 1.0

&R B EHF

FHIEIX 5y —f%Ex A — % Ex A

PRKAEH A H30.7.19 | H30.12.4 H30.7.18 H30.12.4

KIE(C) 16.0 14.0 16.5 14.0

HXURE R (mS/m) 21.8 22.17 15.7 17.4

pH 7.8 1.9 I 6.4 6.6 I
=3 0.010 0.011 0.011 0.007 0.007 0.007
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BT =FV T RE K

B

(B34 )1 RS 552)

(B mg/L)

1 X HT R 44 e FIVET

M XE A2 —R 206 207

Hit X 4 th S HET EEHT

X 5 0620 0050

H A% 000100 000600
FEFTREE(m) 22.0 P N:)

R EHF EHF

FHIEIX 5y ATERAK T Dfth

BKHA H H30.8.21 | H30.12.3 H30.8.30 | H30.12.7

KIE(C) 18.7 18.0 16.5 14.0

XU F (mS/m) 36.9 39.0 31.7 31.4

pH 1.2 1.3 A 8.3 8.5 A
== 0.012 0.012 0.012 0.011 0.010 0. 011
T X HT R 44 FIVET FIETH

M XE A2 —R 207 207

Hit X 4 ATHET KIJIET

X 5 0130 0250

HrEs 000100 000500

FEFTREE (m) 60.0 P N:)

R RHF N

FHIEIX 5y TEAK ZDfth

BKHA H H30.8.30 | H30.12.7 H30.8.30 | H30.12.7

KIE(C) 16.0 14.5 21.8 15.0

XU F (mS/m) 27.6 27.8 28.0 29.7

pH 6.9 1.1 A 8.1 8.3 A
== 0. 031 0.033 0.032 0.010 0.010 0.010
T X HT R 44 FIET R TEET

M XE A2 —R 207 361

Hi X 44 FIVEET i Ui

X 5 0270 0190

iR 000100 000100

FEF R EE (m) 50.0 180.0

R B RHF

FHIEIX 5y ATERAK ATERAK

BKHA A H30.8.30 | H30.12.7 H30.8.7 H30.12.6

KIE(C) 26.5 12.5 20.5 17.2

XU F (mS/m) 44.7 46. 4 36.8 36. 1

pH 8.3 8.5 A 1.2 1.3 A
== 0.011 0.009 0.010 0. 065 0.067 0. 066
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BT =FV T RE K

B

(B34 )15 53°3)

(B mg/L)

1 X HT R 44 g HT N HT

M XE A2 —R 365 365

Hi X 44 b i) b i

X 5 0070 0070

H A% 000100 000200

FEF R EE (m) 4.0 200

R EHF B

X 5y ATERK TERAK
BKHA H H30. 8.8 H30.12. 4 H30. 8.8 H30.12. 4

KIRCC) 20.2 17.7 22.8 22.8

XU F (mS/m) 37.0 31.7 26.6 28.0

pH 7.1 1.1 A 1.3 1.4 I
== 0.007 0. 031 0.019 0.014 0.015 0.015
T X HT R 44 N HT SHEET

i XHETff = —R 365 384

Hi X 44 Bk BXiI

X 5 0090 1040

H A% 000100 000200

FEF R EE (m) 71~8 4.0

R EHF B

FHIEIX 5y ATERAK ZDfth

BKHA H H30. 8.8 H30.12. 4 H30.8.20 | H30.12.3

KIRCC) 19.0 16.9 18.0 15.6

HBXURE R (mS/m) 21.1 21.7 42.9 55.9

pH 7.1 1.3 A 1.6 7.6 A
== 0.010 0.011 0. 011 0.013 0.016 0.015
T X HT R 44 FiESKHE 737K ET

i XHETff = —R 386 461

Hit X 44 NI RiE

X 5 0200 0040

iR 002400 000100

FEF R EE (m) HA 30.0

R B RHF

FHIEIX 5y ATERAK ATERAK

BKHA A H30.8.29 | H30.12.7 H30.7.19 | H30.12.4

KIE(C) 15.5 14.0 17.5 15.5

XU F (mS/m) 16.9 23.8 22.8 22.6

pH 6.3 6.5 A 1.0 7.0 A
== < 0.005 < 0.005 < 0.005 0.011 0.013 0.012
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BT =FV T RE K

B

(B34 )15 55 4)

(B mg/L)
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1 X HT R 44 737K ET 737K ET

i XHETff = —R 461 461

Hit X 4 &y B ko &

X 5 0140 0140

HrEs 000100 000400

FEF R EE (m) 65 60.0

R RHF EHF

FHIEIX 5y ATERAK ATERAK

BKAEH R H30.7.19 | H30.12.4 H30.7.19  H30.12.4

KIE(C) 17.2 15.0 16.5 14.5

HXURE R (mS/m) 14.0 14.4 15.0 15.1

pH 6.9 6.9 A 6.8 6.9 A
== 0.018 0.019 0.019 0.013 0.015 0.014
T X HT R 44 737K ET RESHT

i XHETff = —R 461 463

Hit X 4 tiE FHEILS

X 5 0150 0010

HrEs 000100 000600

FEF R EE (m) 5.0 N

R EHF B

FHIEIX 5y ATERAK ATERAK

BKAEH R H30.7.19 | H30.12.4 H30.7.18 H30.12.4

KIE(C) 15.0 15.0 18.0 17.0

HBXURE R (mS/m) 14.2 15.1 25.2 25.9

pH 6.8 1.0 A 9.1 9.3 A
== 0.014 0.011 0.013 0.011 0.011 0.011
T X HT R 44 RESHT

i XHETff = —R 463

Hi X 44 Wig

X 5 0240

iR 000200

FEF R EE (m) 10.0

R EHF

FHIEIX 5y ATERAK

BKAEH A H30.7.18 | H30.12.4

KIE(C) 15.0 18.0

HXURE R (mS/m) 30.7 31.5

pH 7.3 1.3 RSP

== 0.009 0.010 0.010
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EME=20  IAEGRRRRBD (RS R OV R E 28 7)1 RS ) (HA7 : /L)
iR 4 T T
i XHET A= —1 203 203
HED< A SR FIA AT
X T 0160 0510
A% 000500 000100
HE P (m) 8 4.0
- I 8 il
P35y Z ot TEAK
PKFEH H H30.7.2 | H30.12.6 H30. 7.3 | H30. 11. 27
KR (C) 15.0 15.7 16.5 18.2
FE XU E R (mS/m) 17.17 30.3 20.3 16.8
oh 47 4.8 [FHOEYME] 6.2 6.3 4RIl
TP 22 58 K O AR E R PE 22 32 10 11 11 4.4 4.4 4.4
iR 4, M
i XHEff = —1 203
HIK A FIAHi AT
X 7 0510
A% 000300
S (m) 8
- I 8
P35y EEAK
PKFEH H H30. 7.3 | H30. 11. 27
KR (C) 19.9 18.0
FEXURE R (mS/m) 14.7 16.0
oh 6.7 6.7 |4FhI VIl
IR K ORI ER | 7.4 5.7 6.6




EME=2Y 7GRS (7 v Al ER ) (B mg/L)
DS ES mEm mEm

XA R — R 206 206

H X 4 hn s ET £ RHET

H X5 0370 0500

HAES 000200 000200

H AL (m) 5.0 BH

& R EHP ABH

RSy ZDfth ASERK

PR B H30.8.21 | H30.12.3 H30.8.21 | H30.12.3

KIE(C) 17.9 16. 5 19.5 16.8

HEXUE R (mS/m) 13.3 13.9 30.1 31.1

pH 7.4 1.5 | EREEE 7.6 1.7 R
T 1.1 1.1 1.1 1.3 1.2 1.3
DS UEES mEm meEm

XA R — R 206 206

HiX 4 £ RHET & RHET

HX 5 0500 0500

HAES 000300 000400
HFEREE(m) 10 B

A PN ER

RSy ASERK ASERK

PR B H30.8.21 | H30.12.3 H30.8.21 | H30.12.3

KIE(C) 19.3 14.0 18.8 18.0

HEXURE R (mS/m) 29.6 29.9 34.5 35.3

pH 7.3 1.6 | FRHEEE 1.5 1.6 | AERHERE
T 1.1 1.1 1.1 1.3 1.3 1.3
T PXHT A4 meEm

X E A= —R 206

HX 4 & RHET

HX 5 0500

HAES 000700

F R (m) 10.0

&R ABH

RSy ASERK

POKAER B H30.8.21 | H30.12.3

KIE(C) 29.0 13.5

HEXURE R (mS/m) 31. 4 30.5

pH 8.2 8.3 |V

T 1.4 1.3 1.4
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EWE =2 7 A (ke )

(o3 ) 52 57)

(B mg/L)

7 XHET S 4 IMRTH IMRTH

i XHET A= —1 203 203

X4 4 BAHT R ET

X T 0410 0700

A% 000100 000400

FEFATRIE (m) 40 80

A il il

& X5y ZDth Z Dt

PKFEH H H30.7.2 | H30.12.6 H30.7.2 | H30.12.10

KR (C) 19.9 12.7 22.9 17.6

FE XU E R (mS/m) m 266 63.0 144

pH 6.7 6.9 | AEFEE 6.9 6.7 |FMHEE
Ve 1.0 2.0 1.5 0.4 0.8 0.6
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